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- Proporl»ional Reasoning

Recall that a yaho isa__Companson of two numbers by division and
a (AL Hon is an equation stating that two ratios are Q,Ct ual .Ina
propor'srion, the CXDSS {Jﬁsci wetx  are equal.
Cross Products Property
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The cross products of a 5 “18 d,where b0 and d #0:
proportion are equal. 315 = 59 If %:g. then acl = be

If a proportion contains a variable, you can Cross Y| ‘Hp\u‘

to solve for the variable.

When you set the cross products equal, you create a ~ equation that you
can solve by using the skills you learned in Section 2.1.
Example I: Solve each proportion.
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Example 2: Solving Percent Probiems

A college brochure states that 11.5% of the students attending the college are majoring in engineering. If
2400 students are attending the college, how many are majoring in engineering?
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Example 3: Applications

a. A pedometer measures how far a jogger has run. To set her pedometer, Rita must know her stride
length. Rita counts 328 strides as she runs once around a 400-meter track. A meter is about 39.37 inches.
How long is her stride in inches?
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b. A rock climber wants to know the height of a cliff. The climber measures the shadow of her friend, who
is 5 feet tall and standing beside the cliff, and measures the shadow of the cliff. If the friend's shadow is
4 feet long and the cliff's shadow is 60 feet long, how tall is the cliff?
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